

## A NEW IMPROVED FORM OF THE HILBERT INEQUALITY AND ITS APPLICATIONS

XUEMEI GAO AND MINGZHE GAO\*

(Communicated by M. Praljak)

*Abstract.* In this paper, it shows a new improved form of the Hilbert inequality by introducing a proper weight function  $\Omega(\lambda, x)$  with a parameter  $\lambda (\lambda > \frac{1}{2})$ . As applications, a new refinement of Widder's inequality and an extension of Hardy-Littlewood's inequality are given.

### 1. Introduction

If  $0 < \int_0^\infty f^2(x)dx < \infty$  and  $0 < \int_0^\infty g^2(y)dy < \infty$ , then we have the following Hilberts integral inequality (see [14]):

$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{x+y} dx dy < \pi \left( \int_0^\infty f^2(x)dx \int_0^\infty g^2(y)dy \right)^{\frac{1}{2}}, \quad (1.1)$$

where the constant factor  $\pi$  is the best possible. In 1925, by introducing one pair of conjugate exponents  $(p, q)$ , Hardy [3] gave an extension of (1.1) as follows:

For  $p > 1$ ,  $\frac{1}{p} + \frac{1}{q} = 1$ ,  $f(x), g(y) \geq 0$ ,  $0 < \int_0^\infty f^p(x)dx < \infty$  and  $0 < \int_0^\infty g^q(x)dx < \infty$ , then

$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{x+y} dx dy < \frac{\pi}{\sin(\pi/p)} \left( \int_0^\infty f^p(x)dx \right)^{\frac{1}{p}} \left( \int_0^\infty g^q(y)dy \right)^{\frac{1}{q}}, \quad (1.2)$$

where the constant factor  $\frac{\pi}{\sin(\pi/p)}$  is the best possible. Inequalities (1.1) and (1.2) are important in analysis and its applications (see [3, 13]).

In 1934, Hardy gave an extension of (1.2) as follows:

If  $k_1(x, y)$  is a non-negative homogeneous function of degree  $-1$ ,

$$k_p = \int_0^\infty k_1(u, 1)u^{\frac{-1}{p}} du \in R_+ = (0, +\infty),$$

---

*Mathematics subject classification* (2010): 26D15.

*Keywords and phrases:* Hilbert inequality, parameter, Widder inequality, Hardy-Littlewood inequality.

This research is supported by the Foundation of Hunan Educational Department (No.18C0592).

\* Corresponding author.

then

$$\int_0^\infty \int_0^\infty k_1(x, y) f(x) g(y) dx dy < k_p \left( \int_0^\infty f^p(x) dx \right)^{\frac{1}{p}} \left( \int_0^\infty g^q(y) dy \right)^{\frac{1}{q}}, \quad (1.3)$$

where the constant factor  $k_p$  is the best possible (see [3, Theorem 319]). Additionally, a Hilbert-type integral inequality with the non-homogeneous kernel is proved (see [3, Theorem 350]) as follows:

if  $h(u) > 0$ ,  $\phi(\sigma) = \int_0^\infty h(u) u^{\sigma-1} du \in R_+$ , then

$$\int_0^\infty \int_0^\infty h(x, y) f(x) g(y) dx dy < \phi\left(\frac{1}{p}\right) \left( \int_0^\infty x^{p-2} f^p(x) dx \right)^{\frac{1}{p}} \left( \int_0^\infty g^q(y) dy \right)^{\frac{1}{q}}, \quad (1.4)$$

where the constant factor  $\phi\left(\frac{1}{p}\right)$  is still the best possible.

By introducing an independent parameter  $\lambda \in (0, \infty)$  and the beta function, in 1998, Yang [1] gave an extension of (1.1) as follows:

$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{(x+y)^\lambda} dx dy < B\left(\frac{\lambda}{2}, \frac{\lambda}{2}\right) \left( \int_0^\infty x^{1-\lambda} f^2(x) dx \int_0^\infty y^{1-\lambda} g^2(y) dy \right)^{\frac{1}{2}}, \quad (1.5)$$

where the constant factor  $B\left(\frac{\lambda}{2}, \frac{\lambda}{2}\right)$  is the best possible, and

$$B(u, v) := \int_0^\infty \frac{t^{v-1}}{(1+t)^{u+v}} dt, \quad (u, v > 0)$$

is the Beta function.

In 1999, by introducing matrix method, Gao [10] gave another extension of (1.1) as follows:

If  $0 < \int_0^\infty f^2(x) dx < \infty$  and  $0 < \int_0^\infty g^2(y) dy < \infty$ , the inner product  $(f, g)$  and the norm  $\|f\|$  of  $f$  are defined  $(f, g) = \int_0^\infty f(t)g(t)dt$  and  $\|f\| = \left( \int_0^\infty f^2(t)dt \right)^{\frac{1}{2}}$ , respectively. Then

$$\left( \int_0^\infty \int_0^\infty \frac{f(s)g(t)}{s+t} ds dt \right)^2 < \pi^2(1-A)\|f\|^2\|g\|^2, \quad (1.6)$$

where  $A = \frac{1}{\pi} \left( \frac{x}{\|g\|} - \frac{y}{\|f\|} \right)^2$  with  $x = \left(\frac{2}{\pi}\right)^{\frac{1}{2}}(g, e)$  and  $y = (2\pi)^{\frac{1}{2}}(f, e^{-s})$ ,  $e$  is exponential integral with parameter.

In recent years, there has been increasing interest in extending of (1.1) and (1.2); see, for example, [2, 4, 5, 7, 8, 9, 11, 12, 15] and the references cited therein.

In this paper, by using a new method with a parameter  $\lambda (\lambda > \frac{1}{2})$ , applying the weight functions and the technique of real analysis, we establish an improvement of the Hilbert inequality. As application, we give a new refinement of Widder's inequality and an extension of Hardy-Littlewood's inequality to illustrate the main results.

### 2. Some Lemmas

In what follows, we use the following notation for the convenience of the reader.

$$H(\lambda, x, y) = \frac{f(x)f(y)}{x^\lambda + y^\lambda}, \tag{1}$$

$$F(x, y) = 1 - c(x) + c(y), \tag{2}$$

and

$$J_1 = \int_0^\infty \int_0^\infty \frac{f^2(x)}{x^\lambda + y^\lambda} \left(\frac{x}{y}\right)^{\frac{1}{2}} F(x, y) dx dy, J_2 = \int_0^\infty \int_0^\infty \frac{f^2(y)}{x^\lambda + y^\lambda} \left(\frac{y}{x}\right)^{\frac{1}{2}} F(x, y) dx dy, \tag{3}$$

where  $\lambda > \frac{1}{2}$ ,  $f : [0, \infty) \rightarrow R^+$  is a real function and  $c : [0, +\infty) \rightarrow R$  is a non-negative function.

In order to prove the main results, we need the following four lemmas.

LEMMA 2.1. *Let  $H(\lambda, x, y)$  and  $F(x, y)$  be defined as (1) and (2), respectively. Then*

$$\int_0^\infty \int_0^\infty H(\lambda, x, y) dx dy = \int_0^\infty \int_0^\infty H(\lambda, x, y) F(x, y) dx dy.$$

*Proof.* It is obvious that

$$\int_0^\infty \int_0^\infty H(\lambda, x, y) dx dy = \int_0^\infty \int_0^\infty H(\lambda, x, y) F(x, y) dx dy.$$

Hence, Lemma 2.1 holds.  $\square$

LEMMA 2.2. *Let  $\lambda > \frac{1}{2}$ , then*

$$\int_0^\infty \frac{t^{m-1}}{1+t^\lambda} dt = \frac{\pi}{\lambda \sin \frac{m\pi}{\lambda}}. \tag{2.1}$$

*Proof.* By the integral formula(see, [6, page 591])

$$\int_0^\infty \frac{t^{m-1}}{(1+bt^a)^{m+n}} dt = a^{-1} b^{-\frac{m}{a}} B\left(\frac{m}{a}, m+n-\frac{m}{a}\right),$$

where  $a, b > 0$ ,  $m$  and  $n$  are real numbers,  $B(p, q)$  is Beta function. We have equality(2.1) immediately.  $\square$

LEMMA 2.3. *Let  $J_1, J_2$  be defined as (3). Then*

$$J_1 J_2 = \left(\frac{\pi}{\lambda \sin \frac{\pi}{2\lambda}}\right)^2 \left(\int_0^\infty x^{1-\lambda} f^2(x) dx\right)^2 - \left(\int_0^\infty \Omega(\lambda, x) f^2(x) dx\right)^2, \tag{2.2}$$

where the weight function  $\Omega(\lambda, x)$  is defined by

$$\Omega(\lambda, x) = x^{1-\lambda} \left( \frac{\pi c(x)}{\lambda \sin \frac{\pi}{2\lambda}} - \int_0^\infty \frac{c(xu)}{1+u^\lambda} \left(\frac{1}{u}\right)^{\frac{1}{2}} du \right). \quad (2.3)$$

*Proof.* Let  $u = \frac{y}{x}$ . Then

$$\begin{aligned} J_1 &= \int_0^\infty \int_0^\infty \frac{f^2(x)}{x^\lambda + y^\lambda} \left(\frac{x}{y}\right)^{\frac{1}{2}} F(x, y) dx dy \\ &= \int_0^\infty \left( x^{1-\lambda} \int_0^\infty \frac{1}{1+u^\lambda} \left(\frac{1}{u}\right)^{\frac{1}{2}} (1-c(x) + c(xu)) du \right) f^2(x) dx. \end{aligned}$$

By Lemma 2.2, we have

$$\begin{aligned} J_1 &= \int_0^\infty \left( x^{1-\lambda} (1-c(x)) \frac{\pi}{\lambda \sin \frac{\pi}{2\lambda}} + x^{1-\lambda} \int_0^\infty \frac{c(xu)}{1+u^\lambda} \left(\frac{1}{u}\right)^{\frac{1}{2}} du \right) f^2(x) dx \\ &= \int_0^\infty \left( \frac{x^{1-\lambda} \pi}{\lambda \sin \frac{\pi}{2\lambda}} - x^{1-\lambda} \left( \frac{c(x)\pi}{\lambda \sin \frac{\pi}{2\lambda}} - \int_0^\infty \frac{c(xu)}{1+u^\lambda} \left(\frac{1}{u}\right)^{\frac{1}{2}} du \right) \right) f^2(x) dx \\ &= \int_0^\infty \frac{x^{1-\lambda} \pi}{\lambda \sin \frac{\pi}{2\lambda}} f^2(x) dx - \int_0^\infty x^{1-\lambda} \left( \frac{\pi c(x)}{\lambda \sin \frac{\pi}{2\lambda}} - \int_0^\infty \frac{c(xu)}{1+u^\lambda} \left(\frac{1}{u}\right)^{\frac{1}{2}} du \right) f^2(x) dx \\ &= \frac{\pi}{\lambda \sin \frac{\pi}{2\lambda}} \int_0^\infty x^{1-\lambda} f^2(x) dx - \int_0^\infty \Omega(\lambda, x) f^2(x) dx, \end{aligned} \quad (2.4)$$

where the weight function  $\Omega(\lambda, x)$  is defined by (2.3).

Similarly, we have

$$\begin{aligned} J_2 &= \int_0^\infty \int_0^\infty \frac{f^2(y)}{x^\lambda + y^\lambda} \left(\frac{y}{x}\right)^{\frac{1}{2}} F(x, y) dx dy \\ &= \frac{\pi}{\lambda \sin \frac{\pi}{2\lambda}} \int_0^\infty x^{1-\lambda} f^2(x) dx + \int_0^\infty \Omega(\lambda, x) f^2(x) dx. \end{aligned} \quad (2.5)$$

It follows from (2.4) and (2.5) that (2.2) holds.  $\square$

REMARK 2.1. let  $\lambda = 1$ , we get from (2.2)

$$J_1 J_2 = \pi^2 \left( \int_0^\infty f^2(x) dx \right)^2 - \left( \int_0^\infty \tilde{\Omega}(x) f^2(x) dx \right)^2, \quad (2.6)$$

where

$$\tilde{\Omega}(x) = \pi c(x) - \int_0^\infty \frac{c(xu)}{1+u} \left(\frac{1}{u}\right)^{\frac{1}{2}} du.$$

Let  $u = t^2$ , we have

$$\tilde{\Omega}(x) = \pi c(x) - 2 \int_0^\infty \frac{c(xt^2)}{1+t^2} dt. \quad (2.7)$$

LEMMA 2.4. Let  $c(x) = \frac{1}{1+x}$  ( $x \geq 0$ ), then (2.7) becomes

$$\tilde{\Omega}(x) = \frac{\pi}{1+x} - \frac{\pi}{1+\sqrt{x}}. \tag{2.8}$$

*Proof.* By the integral formula(see, [16, page 158, formula 97])

$$\int_0^\infty \frac{dx}{(a^2+x^2)(b^2+x^2)} = \frac{\pi}{2ab(a+b)},$$

it is ease to deduce that

$$\int_0^\infty \frac{c(xt^2)}{1+t^2} dt = \int_0^\infty \frac{dt}{(1+t^2)(1+xt^2)} = \frac{\pi}{1+\sqrt{x}}. \tag{2.9}$$

Substituting (2.9) into (2.7), we obtain (2.8).  $\square$

### 3. Main results

We may now state and prove our main results.

THEOREM 3.1. Let  $H(\lambda, x, y)$  and  $F(x, y)$  be defined as (1) and (2), respectively. Then

$$\left( \int_0^\infty \int_0^\infty \frac{f(x)f(y)}{x^\lambda + y^\lambda} dx dy \right)^2 < \left( \frac{\pi}{\lambda \sin \frac{\pi}{2\lambda}} \right)^2 \left( \int_0^\infty x^{1-\lambda} f^2(x) dx \right)^2 - \left( \int_0^\infty \Omega(\lambda, x) f^2(x) dx \right)^2, \tag{3.1}$$

where the weight function  $\Omega(\lambda, x)$  is defined by (2.3).

*Proof.* By Schwarz’s inequality and Lemma 2.1, we have

$$\begin{aligned} \left( \int_0^\infty \int_0^\infty \frac{f(x)f(y)}{x^\lambda + y^\lambda} dx dy \right)^2 &= \left( \int_0^\infty \int_0^\infty H(\lambda, x, y) dx dy \right)^2 \\ &= \left( \int_0^\infty \int_0^\infty H(\lambda, x, y) F(x, y) \right)^2 \\ &= \left\{ \int_0^\infty \int_0^\infty \left( \frac{f(x)}{(x^\lambda + y^\lambda)^{\frac{1}{2}}} \left( \frac{x}{y} \right)^{\frac{1}{4}} (F(x, y))^{\frac{1}{2}} \right) \left( \frac{f(y)}{(x^\lambda + y^\lambda)^{\frac{1}{2}}} \left( \frac{y}{x} \right)^{\frac{1}{4}} (F(x, y))^{\frac{1}{2}} \right) dx dy \right\}^2 \\ &\leq \int_0^\infty \int_0^\infty \frac{f^2(x)}{x^\lambda + y^\lambda} \left( \frac{x}{y} \right)^{\frac{1}{2}} F(x, y) dx dy \int_0^\infty \int_0^\infty \frac{f^2(y)}{x^\lambda + y^\lambda} \left( \frac{y}{x} \right)^{\frac{1}{2}} F(x, y) dx dy. \end{aligned} \tag{3.2}$$

Since  $f(x) \neq 0$ , it is impossible to take equality in (3.2), we obtain

$$\left( \int_0^\infty \int_0^\infty \frac{f(x)f(y)}{x^\lambda + y^\lambda} dx dy \right)^2 < J_1 J_2.$$

By Lemma 2.3, we get (3.1). This completes the proof.  $\square$

**THEOREM 3.2.** *Let  $F(x, y)$  be defined as (2) and let  $f, g : [0, +\infty) \rightarrow R^+$  be real function. Then*

$$\left(\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{x^\lambda + y^\lambda} dx dy\right)^4 < \left\{ \left(\frac{\pi}{\lambda \sin \frac{\pi}{2\lambda}}\right)^2 \left(\int_0^\infty x^{1-\lambda} f^2(x) dx\right)^2 - \left(\int_0^\infty \Omega(\lambda, x) f^2(x) dx\right)^2 \right\} \times \left\{ \left(\frac{\pi}{\lambda \sin \frac{\pi}{2\lambda}}\right)^2 \left(\int_0^\infty x^{1-\lambda} g^2(x) dx\right)^2 - \left(\int_0^\infty \Omega(\lambda, x) g^2(x) dx\right)^2 \right\}, \tag{3.3}$$

where the weight function  $\Omega(\lambda, x)$  is defined by (2.3).

*Proof.* By Schwarz’s inequality, we have

$$\begin{aligned} \left(\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{x^\lambda + y^\lambda} dx dy\right)^4 &= \left\{ \left[ \int_0^1 \left(\int_0^\infty t^{x^\lambda - \frac{1}{2}} f(x) dx \int_0^\infty t^{y^\lambda - \frac{1}{2}} g(y) dy\right) dt \right]^2 \right\}^2 \\ &\leq \left\{ \int_0^1 \left(\int_0^\infty t^{x^\lambda - \frac{1}{2}} f(x) dx\right)^2 dt \right\}^2 \left\{ \int_0^1 \left(\int_0^\infty t^{y^\lambda - \frac{1}{2}} g(y) dy\right)^2 dt \right\}^2 \\ &= \left(\int_0^\infty \int_0^\infty \frac{f(x)f(y)}{x^\lambda + y^\lambda} dx dy\right)^2 \left(\int_0^\infty \int_0^\infty \frac{g(x)g(y)}{x^\lambda + y^\lambda} dx dy\right)^2. \end{aligned} \tag{3.4}$$

Similarly to the proof of Theorem 3.1, we obtain

$$\left(\int_0^\infty \int_0^\infty \frac{g(x)g(y)}{x^\lambda + y^\lambda} dx dy\right)^2 \leq \left(\frac{\pi}{\lambda \sin \frac{\pi}{2\lambda}}\right)^2 \left(\int_0^\infty x^{1-\lambda} g^2(x) dx\right)^2 - \left(\int_0^\infty \Omega(\lambda, x) g^2(x) dx\right)^2. \tag{3.5}$$

Since  $g(x) \neq 0$ , it is impossible to take equality in (3.5).

Substituting (3.1) and (3.5) into (3.4), we get (3.3). This completes the proof.  $\square$

In particular, let  $\lambda = 1$ , we have a new improvement of the Hilbert inequality as following corollary.

**COROLLARY 3.1.** *Let  $F(x, y)$  be defined as (2) and let  $f, g : [0, +\infty) \rightarrow R^+$  be real function. Then*

$$\begin{aligned} \left(\int_0^\infty \int_0^\infty \frac{f(x)f(y)}{x+y}\right)^4 &< \left\{ \pi^2 \left(\int_0^\infty f^2(x) dx\right)^2 - \left(\int_0^\infty \tilde{\Omega}(x) f^2(x) dx\right)^2 \right\} \times \\ &\times \left\{ \pi^2 \left(\int_0^\infty g^2(x) dx\right)^2 - \left(\int_0^\infty \tilde{\Omega}(x) g^2(x) dx\right)^2 \right\}, \end{aligned} \tag{3.6}$$

where the weight function  $\tilde{\Omega}(x)$  is defined by (2.7).

If we choose  $c(x) = \frac{1}{1+x}$  ( $x \geq 0$ ), by (2.8), then (3.6) becomes

$$\left( \int_0^\infty \int_0^\infty \frac{f(x)f(y)}{x+y} \right)^4 < \pi^4 \left\{ \left( \int_0^\infty f^2(x)dx \right)^2 - \left( \int_0^\infty \widehat{\Omega}(x)f^2(x)dx \right)^2 \right\} \times \\ \times \left\{ \left( \int_0^\infty g^2(x)dx \right)^2 - \left( \int_0^\infty \widehat{\Omega}(x)g^2(x)dx \right)^2 \right\},$$

where  $\widehat{\Omega}(x) = \frac{1}{1+x} - \frac{1}{1+\sqrt{x}}$ .

REMARK 3.1. The non-negative function  $c(x)$  is chosen for maximum flexibility, because it only satisfies condition:  $F(x, y) = 1 - c(x) + c(y) \geq 0$ . Therefore, if we choose  $c(x) = \frac{1}{2} \cos \sqrt{x}$ , then by the integral formula(see, [16, page 189, formula 534])

$$\int_0^\infty \frac{\cos ax}{b^2 + x^2} dt = \frac{\pi}{2b} e^{-ab}, \quad (a \geq 0, Re b > 0).$$

It is easy to calculate that

$$2 \int_0^\infty \frac{c(xt^2)}{1+t^2} dt = \int_0^\infty \frac{\cos \sqrt{xt}}{1+t^2} dt = \frac{\pi}{2} e^{-\sqrt{x}},$$

hence, we get

$$\widehat{\Omega}(x) = \frac{1}{2} (\cos \sqrt{x} - e^{-\sqrt{x}}).$$

COROLLARY 3.2. With the same assumptions as Corollary 3.1, let  $\lambda = 2$ , then

$$\left( \int_0^\infty \int_0^\infty \frac{f(x)g(y)}{x^2 + y^2} dx dy \right)^4 < \left\{ \frac{\pi^2}{2} \left( \int_0^\infty \frac{1}{x} f^2(x) dx \right)^2 - \left( \int_0^\infty \bar{\Omega}(2, x) f^2(x) dx \right)^2 \right\} \times \\ \times \left\{ \frac{\pi^2}{2} \left( \int_0^\infty \frac{1}{x} g^2(x) dx \right)^2 - \left( \int_0^\infty \bar{\Omega}(2, x) g^2(x) dx \right)^2 \right\},$$

where the weight function  $\bar{\Omega}(2, x)$  is defined by

$$\bar{\Omega}(2, x) = \frac{1}{x} \left( \frac{\pi c(x)}{\sqrt{2}} - \int_0^\infty \frac{c(xu)}{1+u^2} \left( \frac{1}{u} \right)^{\frac{1}{2}} du \right).$$

### 4. Applications

In this section, we give a new refinement of Widder’s inequality and an extension of Hardy-Littlewood’s inequality as follows.

**4.1. A new refinement of Widder’s inequality**

The following inequality is Widder’s inequality (see [15]):

Let  $a_n \geq 0 (n = 0, 1, 2, \dots)$ ,  $A(x) = \sum_{n=0}^{\infty} a_n x^n$ ,  $A^*(x) = \sum_{n=0}^{\infty} \frac{a_n x^n}{n!}$ . If  $A(x) \neq 0$ , then

$$\int_0^1 A^2(x) dx < \pi \int_0^{\infty} \left( e^{-x} A^*(x) \right)^2 dx \tag{4.1}$$

We give a new refinement of (4.1) as follows:

**THEOREM 4.1.** *Let  $a_n \geq 0 (n = 0, 1, 2, \dots)$ ,  $A(x) = \sum_{n=0}^{\infty} a_n x^n$ ,  $A(x) \neq 0$  and  $A^*(x) = \sum_{n=0}^{\infty} \frac{a_n x^n}{n!}$ . Let  $F(x, y)$  be defined as (3). then*

$$\left( \int_0^1 A^2(x) dx \right)^2 < \pi^2 \left( \int_0^{\infty} \left( e^{-x} A^*(x) \right)^2 dx \right)^2 - \left( \int_0^{\infty} \tilde{\Omega}(x) \left( e^{-x} A^*(x) \right)^2 dx \right)^2 \tag{4.2}$$

where the weight function  $\tilde{\Omega}(x)$  is defined by (2.7).

*Proof.* First, we have following relation:

$$\begin{aligned} \int_0^{\infty} e^{-t} A^*(tx) dt &= \int_0^{\infty} e^{-t} \sum_{n=0}^{\infty} \frac{a_n (xt)^n}{n!} dt = \sum_{n=0}^{\infty} \frac{a_n x^n}{n!} \int_0^{\infty} t^n e^{-t} dt \\ &= \sum_{n=0}^{\infty} a_n x^n = A(x). \end{aligned}$$

Squaring and integrating both sides of aforementioned equality from 0 to 1, we obtain

$$\int_0^1 A^2(x) dx = \int_0^1 \left( \int_0^{\infty} e^{-t} A^*(tx) dt \right)^2 dx.$$

Let  $tx = s$ , from right side of aforementioned equality, we have

$$\begin{aligned} \int_0^1 A^2(x) dx &= \int_0^1 \left( \int_0^{\infty} e^{-t} A^*(tx) dt \right)^2 dx \\ &= \int_0^1 \left( \int_0^{\infty} e^{-\frac{s}{x}} A^*(s) ds \right)^2 \frac{1}{x^2} dx. \end{aligned}$$

Let  $y = \frac{1}{x}$ , we get

$$\int_0^1 A^2(x) dx = \int_1^{\infty} \left( \int_0^{\infty} e^{-sy} A^*(s) ds \right)^2 dy.$$

Let  $u = y - 1$ , then

$$\int_0^1 A^2(x) dx = \int_0^{\infty} \left( \int_0^{\infty} e^{-su-s} A^*(s) ds \right)^2 du$$



$$\begin{aligned}
 &= \int_0^\infty \left( \int_0^\infty e^{-su} f(s) ds \right)^2 du \\
 &= \int_0^\infty \int_0^\infty \frac{f(s)f(t)}{s+t} ds dt,
 \end{aligned} \tag{4.3}$$

where  $f(x) = e^{-x}A^*(x)$ .

Thus, by Theorem (3.1) (choose  $\lambda = 1$ ), we get (4.2) from (4.3). This completes the proof.  $\square$

**4.2. An extension of Hardy-Littlewood’s inequality**

Hardy-Littlewood proved the following inequality(see [3]):

Let  $f(x), x \in [0, 1)$ , be a non-negative real function,  $a_n = \int_0^1 x^n f(x) dx, n = 0, 1, 2, \dots$

Then

$$\sum_{n=0}^\infty a_n^2 < \pi \int_0^1 f^2(x) dx, \tag{4.4}$$

where  $\pi$  is the best constant.

In 1997, Gao [9] extended the inequality (4.4) and established the following inequality, named the Hardy-Littlewood integral inequality.

$$\int_0^\infty f^2(x) dx < \pi \int_0^1 h^2(x) dx, \tag{4.5}$$

where  $f(x) = \int_0^1 t^x h(t) dt, x \in [0, +\infty)$ .

In 1999, Gao [11] refined (4.5) as following inequality:

$$\int_0^\infty f^2(x) dx < \pi \int_0^1 t h^2(t) dt. \tag{4.6}$$

In this paper, we will further extend the inequality (4.6). For notational simplicity, define

$$f(x) = \int_0^1 t^{x\lambda} |h(t)| dt, (x \geq 0, \lambda > \frac{1}{2}) \tag{4.7}$$

where  $h(t) \neq 0, (t \in [0, 1))$ , is a real function.

We are in position to state and show the following theorem.

**THEOREM 4.2.** *Suppose that  $f(x)$  be defined as (4.7), and  $F(x, y)$  be defined as (2). Then*

$$\begin{aligned}
 \left( \int_0^\infty f^2(x) dx \right)^4 &< \left\{ \left( \frac{\pi}{\lambda \sin \frac{\pi}{2\lambda}} \int_0^\infty x^{1-\lambda} f^2(x) dx \right)^2 - \left( \int_0^\infty \Omega(\lambda, x) f^2(x) dx \right)^2 \right\} \times \\
 &\times \left( \int_0^1 t h^2(t) dt \right)^2,
 \end{aligned} \tag{4.8}$$

where the weight function  $\Omega(\lambda, x)$  is defined by (2.3).

*Proof.* In view of definition of  $f(x)$ , we rewrite  $f^2(x)$  as

$$f^2(x) = \int_0^1 f(x)t^{x^\lambda} |h(t)| dt.$$

By Schwarz's inequality and Theorem 3.1, we have

$$\begin{aligned} \left( \int_0^\infty f^2(x) dx \right)^2 &= \left\{ \int_0^\infty \left( \int_0^1 f(x)t^{x^\lambda} |h(t)| dt \right) dx \right\}^2 \\ &= \left\{ \int_0^1 \left( \int_0^\infty f(x)t^{x^\lambda - \frac{1}{2}} dx \right) t^{\frac{1}{2}} |h(t)| dt \right\}^2 \\ &\leq \int_0^1 \left( \int_0^\infty f(x)t^{x^\lambda - \frac{1}{2}} dx \right)^2 dt \int_0^1 t h^2(t) dt \\ &= \int_0^1 \left( \int_0^\infty f(x)t^{x^\lambda - \frac{1}{2}} dx \right) \left( \int_0^\infty f(y)t^{y^\lambda - \frac{1}{2}} dy \right) dt \int_0^1 t h^2(t) dt \\ &= \int_0^1 \left( \int_0^\infty \int_0^\infty f(x)f(y)t^{x^\lambda + y^\lambda - 1} dx dy \right) dt \int_0^1 t h^2(t) dt \\ &= \left( \int_0^\infty \int_0^\infty \frac{f(x)f(y)}{x^\lambda + y^\lambda} dx dy \right) \int_0^1 t h^2(t) dt \\ &\leq \left\{ \left( \frac{\pi}{\lambda \sin \frac{\pi}{2\lambda}} \int_0^\infty x^{1-\lambda} f^2(x) dx \right)^2 - \left( \int_0^\infty \Omega(\lambda, x) f^2(x) dx \right)^2 \right\}^{\frac{1}{2}} \int_0^1 t h^2(t) dt, \end{aligned} \tag{4.9}$$

where the weight function  $\Omega(\lambda, x)$  is defined by (2.3).

Since  $h(t) \neq 0$ ,  $f(x) \neq 0$ , it is impossible to take equality in (4.9). Thus, we get inequality (4.8). This completes the proof.  $\square$

*Acknowledgements.* We are very grateful to the anonymous referees for their careful reading and helpful suggestions which led to an improvement of our original manuscript. The authors also wish to express their sincere thanks to Professor Yang Qiaoshun for his assistance.

#### REFERENCES

- [1] BICHENG YANG, *On Hilbert's integral inequality*, J. Math. Anal. Appl., **220**(1998): 778–785.
- [2] I. BRENTIĆ, J. PEČARIĆ, *Generalization of Inequalities of Hardy-Hilbert's type*, Math. Inequal. Appl., **2**(2004): 217–225.
- [3] G. H. HARDY, J. E. LITTLEWOOD AND G. PÓLYA, *Inequalities*, Cambridge University Press, Cambridge, UK, 2nd edition, 1952.
- [4] JIANQUAN LIAO, BICHENG YANG, *On Hardy-type integral inequalities with the gamma function*, J. Inequal. Appl., **2017**(2017): 131.
- [5] LEPING HE, YIN LI AND BICHENG YANG, *An extended Hilbert's integral inequality in the whole plane with parameters*, J. Inequal. Appl., **2018**(2018): 216.

- [6] LIANXIANG WANG, DEZHI FANG, *Mathematical Handbook*, People's Education Press, Beijing, 1979.
- [7] LUKKASSEN, LARS-ERIK PERSSON AND STEFAN G. SAMKO, *Some sharp inequalities for integral operators with homogeneous kernel*, J. Inequal. Appl., **2016**(2016): 114.
- [8] MARIO KRNIĆ, MINGZHE GAO, JOSIP PEČARIĆ AND XUEMEI GAO, *On the Best Constant in Hilbert Inequality*, Math. Inequal. Appl., **2**(2005): 317–329.
- [9] MINGZHE GAO, *On Hilbert's inequality and its applications*, J. Math. Anal. Appl., **212**(1997): 316–323.
- [10] MINGZHE GAO, *On the Hilbert Inequality*, Z. Anal. Anwend., **4**(1999): 1117–1122.
- [11] MINGZHE GAO, TAN LI AND L. DEBNATH, *Some improvements on Hilbert's integral inequality*, J. Math. Anal. Appl., **2**(1999): 682–689.
- [12] MINGZHE GAO AND HSU L. C., *A Survey of Various Refinements And Generalizations of Hilbert's Inequalities*, J. Math. Res. Exposition, **2**(2005): 327–343.
- [13] D. S. MITRINOVIĆ, J. PEČARIĆ, A. M. FINK, *Inequalities Involving Functions and Their Integrals and Derivatives*, Kluwer Academic, Boston, 1991.
- [14] I. SCHUR, *Bemerkungen sur Theorie der beschränkten Bilinearformen mit unendlich vielen Veränderlichen*, J. Math., **140**(1911): 1–28.
- [15] O. V. WIDDER, *An inequality related to Hilbert's inequalities*, J. London Math. Soc., **4**(1924): 194–198.
- [16] YUMING JIN, *Table of Applied integrals*, University of Science and Technology of China Press, Hefei, 2006.

(Received July 11, 2018)

Xuemei Gao

Department of Mathematics and Computer Science  
Normal College, Jishou University  
Jishou Hunan, 416000, P. R. China  
e-mail: 498580958@qq.com

Mingzhe Gao

Department of Mathematics and Computer Science  
Normal College, Jishou University  
Jishou Hunan, 416000, P. R. China  
e-mail: mingzhegao@163.com